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Explanation:
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Explanation:
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LA.Bx0)=0 i.B.Ax%)=0 iii.¢.AxB)=0

7. (AT QG %o BT (SIATH? (1 point)

[P-1.6, JU-Aq : 2021-22]



Explanation:
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Explanation:



wny Al =32+ (-2 + 62 =149 =7

- qee ega =21 -2 +8¢%
GeP (O 71 7] -

10. qHfe ARTHAg S 90 OFT con| T3 TN SfF7 (@9 57 @F Far (! point)
XH OIR(A dBR YH+gd FOI0 oGl (ON FAL?
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Explanation:

W,H=V2=32=9%

1. g6 AT 2T 600K STSNTHIE O B CATH 1200J O JZTHL (! point)
A2 SINATZTFH 300J O TGN LA | OT JTITFE NS OINNTHl FO?

[P-2.1, JU-Aq : 2021-22]
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( 300°K
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) 2400°K

Explanation:

T, _Q T, xQ,; _ 600 x 300 _
Why| =L Ty =
! T Qz:> 2 Q, 1200 = 150K
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Explanation:
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Explanation:
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Explanation:
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Explanation:
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%x 1.38 x 107 x 300 = 6.21 x 107! J
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[P-2.1, JU-Aq : 2021-22]
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Explanation:
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[P-2.2, JU-Aq : 2021-22]
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Explanation:
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[P-1.4, JU-Ag : 2021-22]
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Explanation:

ﬁﬁﬁ 99, J =Ft =m(v — u)
] =m(v+u) [Rede ]
=6x 107 (10+10)=1.2x 107" kgms™’
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21. ) OFSY (AT BT AFHB 419 AT Wfo© 20 [Ne5TS 2aF [L~g (! point)
1) 15K 1 ACh | < | 4TS YTHT FIHTHD 2.3 eV.

[P-2.8, JU-Aq : 2021-22]

(A —2.3
) h
T =423
)
" hA 4+ 2.3
@® i
5 = 2.3

Explanation:



S[®]WhY| E = E, + W,

:>Ek=E—WU=h—f—2.3 - Wo =23 eV]
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Explanation:

[SIGIWLY] 1/y = 9.46 x 10"°m, T TP 43 |

23. fRAE BIT 17°C STNIATY dH(6 AT AT smtsig Srwe~ 0.75 L1 (1 point)
BITHE ATTTS N1 T 9 [OF O1oNrars SF© ST SIrTo 0.85 L
(Q?

[C-2.1, JU-Aq : 2021-22]

) 33767K
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Explanation:

LA 4 T, =17°C =290 K
1 T, V] =(0.75L
_ VT, _0.85%x290 T, =9
=T 2_ 1 - 2
2 V, 0.75 328. 67 K V, = 0.85 L
24. 0,01 M HCL B]CY] pH I9F YN 97 (1 point)
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Explanation:

S{®@]WhY| pH = — log [H*] = — log [0.01] = 2
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Explanation:
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) ClsC — CHO
" HCHO

® CH;CH,CHO
() C4H;CHO

Explanation:



CHO), SRR Shiforfizzs. QEEEfCR3T It SRS
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Explanation:

ISI®]why]
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29 ﬁfﬁﬁ“ﬁl’"ﬁlﬁfﬂ 50 ml S=¥& A<CT S gm CaCl, A7 | ferera oS CaCl,

A9 RIFIO] $O?
[C-1.2, JU-A : 2021-22]

)10 g/L
@® 100 g/L

(101 g/LL
50 g/L.

Explanation:

.@IWhFl ALGA Qirel, S = 50 ;?W g/L = 100 g/L
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Explanation:
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Explanation:
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Explanation:
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35. CH3CH,CH(Br)CH; + KOH(alc) — A + H,0 + K Br A CTI51fB- (1 point)
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Explanation:



S{@why!

— CH,—CH=CH-CH,
[9T6-2-3 (80%)

CH;CH,CH(Br)CH, + —~0OH (alc),

— CH;—CH,—CH=CH,
f9%0-1-29 (20%)
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36. 500 mL COfSITNIATE HATT FO YT Na,CO; ATTH? (1 point)
[C2.3, JU-Aq : 2021-22]
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Explanation:
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W=7
37. (N1 BT 3IET (1N IO *[Hihg $4l TH? (1 point)
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Explanation:
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o eNEaet YRfFeEn (1) 99 839 |
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38. (B RCATHFAHATT AfTOa HTFO? (1 point)
[C-1.4, JU-Aq : 2021-22]
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39. 27 g Al FITATCS GNT Fqro fF “Afawrer famgs sreng? (1 point)
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40. PCl5 9 (PN AT FFAT A2 (I point)
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Explanation:



4 X =% (ST T BTG TR + TS AFIT ST

I 1S + @ qmmmﬁ*]x=%w+M—c+A]
@RI, x = Y2HT SR04
PCls &7 TERIT: %(5+5+0+0)=0=Sp3dmwﬁww:

41. N,(g) + 3H,(g) = 2NH;(g) fATFTOTE Kp 8 Ke 97 591 (FHIB? (1 point)
[C-1.4, JU-Aq : 2021-22]

" Kp =Kc(RT)?
' Kp =Kc(RT)
® K =Kc(RT)2
) ke =Kp(RT)

Explanation:

Kp = K¢ (RT)™

5 Kp =K (RT)(fmﬁ!:r TR G ST — 0T i e ot s1esm)
=Kc(RT)"™ =K (RT)™

42. ST WYF OHLT - (1 point)
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Explanation:

S[®]WhY| NH; - 1 (S0 TSTSIG 3G IR |
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43. fATea (@FRIP @RS I WT1- AT Rt (1 point)

[C-2.2, JU-Aq : 2021-22]
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Explanation:

[STO]Why[Seef-=51at 8 ot et ={ferar:

\_sdﬁwr AT & 9t I e94e | RiFwt = AT
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—NH;, -NHR, -NR;,~OH | N0, -NRy, ~CFy, -CCl
A |-OCH,, —OC,Hs. —COOH, —COOR,
| -NHCOCH; —-SO;H, -CHO, -COR
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4. e *mrd AT e RO o Fate a1 S8 &= (1 point)
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Explanation:
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&OI9F Fe .
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45. Kk QAN TS XA 22 — 3z + 2 + k = 0 TNBACTT A6 G AR (x-3) (1 point)
T(Q?

[M-2.4, JU-Aq : 2021-22]




Explanation:

S[AIWhY| (x - 3) 9= Teims -, f(3)=0 ==
QITf(3)=9-9+2+K =0=2+K .. K=-2

46. 1l —coszx

lim AT T F9? (1 point)
z—0 £
[M-1.9, JU-Ag : 2021-22]
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Explanation:
X
s .2
[im ] —cos x lim 2sin 2
S{@why =
x—0 X x—0 X
., X\2
. SINA .
lim 2 v lim x
— 2 e X === — X 1 = O
Xx—>() X 4 x—02
2
47. > (1 point)
/ sin” zdz I NN $O?
0
[M-10, JU-Aq : 2021-22]
®
4
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Explanation:



) 2
@ J‘ sin®x dx =% f‘ (1 —cos 2x)dx
0
0

— |
I 1 . ]? 1 (n 1 T
| X—=8mn2X [ ==(=—==sinnw |==
2 2 i 2(2 2 4
48. x2 _4x + 12y — 40 = 0 HAJLSF OATH U “ILHA (M) $O? (1 point)

[M-2.6, JU-Ag : 2021-22]
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6
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Explanation:
Wh)’ X’ —4x+12y—40=0
S —4x+4==-12y+40+4 = (x—-2)" =- 12( —ﬂ)

12
-, TATFAT ORI A = |da| = |12 = 12
3

49, 3 (1 point)
y= 2 +2° — 8z + | THAYA (@ e wiFge =rfs x - e P
NTEAT?

[M-1.9, JU-Ag : 2021-22]

(2, 16/3)
® (2, -16/3)
(2, 14/3)
(3, 16/3)

Explanation:

3 :
y=-}:—;-+x2—3x+4;"f€w,%=O:>x2+2x—-8=0
=X’ +4x—-2x—8=0=2>x(x+4)-2(x+4)=0
=>x+4)(x=-2)=0..x=—4,2 9, x==4 T y=

_ -1
L‘lﬂﬁ,x=2'€£?ry=-;—6 ""‘T"fﬁl’-i=(2,—3—‘

220
3

50. 16x2 + 25y2 = 400 BAJLRA VS AT Ol (FHB? (1 point)



[M-2.6. JU-Ag : 2021-22]

= h.:ill--'- | h.:al,_.
(kg Jf [ L =

Explanation:

X Y _ 16 _3
SIOIWY]16x2 +25y2 = 400 = X ] - | —53=3

25 16 >

51 1 ! po
/ ‘Ate) AN e (1 point)

cos?(ze?)
[M-1.10, JU-Ag : 2021-22]

® tan(xe™) +C

sin(xe™) +C

cos(xe™) +C

O cos*(xeX) +C
Explanation:
e (L1 gy = [sec? (xe) . (1 +)}dx
cos” (xe™) '

= tan(xe") +c¢ [." |sec® {f(x)}.f(x) dx = tan{f(x)} + c]

52. (1 point)

1 1
tan_l(a: + E) -+ tan_l(m — E) — tan ' 2 XCA, x-EI9F WA J

[M-2.7, JU-Ag : 2021-22]

| = o]

Wk |

Explanation:



- @]Wh}’\ tan” (x + %) + tan™ (x — -:1;) =tan"' 2
1
3

1
X+57+X—
3
= tan™ — 7 N/ D tan 2 = y 3 N 2
— T —_— — 2_-—
: (’“’3)( 3) : (" 9)
2 10 S 2
— " _ 2, = 2 — — N — S
—> 2X =2 2x+9 X"+ X g -+ X 33
53, |z + vy €T Y (1 point)
T xT+z 2z Rt a = @52
Y z Ytz
[M-1.1, JU-A g : 2021-22]
® 4xyz
) 2xyz
8xyz

Explanation:

|x+y—x—y X y
— | X=X~ ZL—12 Xt+Z Z
Yy-y—2-12 Z Ytz
[C]lr = Cy *—(02"'03) W‘TW]

Xty i£ y

Si@wn|| x x+z z

y Z Yyt+1zZ

0 X y 0 Ex Y
=|—-2z X*+zZ 'z | ==2z/|1 x4z Z
— 27, 45 W Y2 1 Z W

0 x vy |

==2z |0 X -y | [ =r—n]
1 z y+z
X Y

==2z |, y =—22(— Xy = Xy) = — 2Z(— 2xy) = 4xyz

54. ax? + bx + ¢ = 0 TNPACTH AFB T 0 XA ¢ 99 TH F9? (1 point)

IM-2.4, JU-Aq : 2021-22]

Explanation:



@ Cﬂtij@\'-ﬂﬂﬁ‘iﬁo a0t +bx0+c=0 ..c¢c=0

55. 3P g2 2P TGS High R | HYT I 3BT T Flghg ATaNreTs fig@er (1 point)
TN | TN WG O (T FO?

[M-2.7, JU-Aq : 2021-22]
1300
® 120°
T 110°
) 100°

Explanation:

SI@)wWhy|msat sz, 3P @ 2P Wit9 969 &, R

~. R* = (3P)* + (2P)* + 2.3P.2P cosa. or, R* = OP* + 4P* + 12P*
cosa or, R* = 13P*+ 12P? cosot ==-=---- (1)
T, AT IS R T wAfes fasd =T |

~.(2R)* = (6P)* + (2P)* + 2.6P.2P coso. or, 4R?

=36 P>+ 4 P*+ 24P? cosa. or, 4R* = 40P + 24P? cosa
R*= 10P* + 6P? cosqL --~----- (11)

(i) 8 (ii) 2CS, 13P*+ 12P? cosa = 10P* + 6P? cosa.

6P* coso = — 3P? or, cosaL = — % =cos 120° ..aa=120°

° fif A= [_41 _23] T, OIZCA |Adj(A)| FO IE? (1 point)
[M-1.1, JU-Ag : 2021-22]
® 0
1000
100
110

Explanation:

-1 3 .o [2 3°

. |AdjA| = (=2 + 12) =10

57. (1 point)
5'111_1(5) + cos 1 i =P\9?
s V5




[M-2.7, JU-Aq : 2021-22]

Explanation:

4 2 d 1
n ISP -1 el 2 1 L
E@ WhY| sin 5 + COS \B tan " 3 + tan 5

4.1 11
L3722 e
= {an —‘é‘=tan T=tan 3
1 -3 3
58. 2x — 6y +4 = 0 (FUE ©NF FF (FUF AN a9 Ao @=o (1, 1) (1 point)
fa=g5m a2
[M-1.3, JU-Ag : 2021-22]
@®3x+y-4=0
U 3x—y+4=0
) 6x+2y—-4=0
L 6x+6y+4=0

Explanation:

SO WhY| 2x — 6y + 4 = 0 @GR % @
6x+2y+K=09r(1,1) =gt -. 6 +2+K=0=K=-8
T‘Iﬁﬁﬁ.f’-‘fiﬂﬁx+2y—3=0 = 3x+y—-4=0

59. ol (1 point)
2T qa N9 P
0 v1— 2

[M-1.10, JU-Aq : 2021-22]



Explanation:

4,
| -x*=2z
So—=2xdx=dz

:>xdx=—ldz

I——

2
| ——

0

60. 3x — 4y + 1 =0 33 kx +3y +5 = 0 (AUT 20 AT AT A kK T NH Fo? (! point)

[M-1.3, JU-Aq : 2021-22]

3
@4
503
35

Explanation:

3Xx—4y+1=0 QI OlF =

Kx+3y+5=0ﬂﬁﬁrﬁ=—-13£;“1m,

3
4

Alds

T

K
9SO
>3

tas ) | e e mifE R iy

S K

4

(1 point)

IM-1.1, JU-Ag : 2021-22]

® [ 4 3 ]
21 -2 -1
1 [1 3]
212 —4
1[ 4 2 ]
2| -3 —1
"'fri -4 3
101 3 -2

Explanation:



A—

. _1 —
S@wny] A=, j_A L Adj (A)

A
A“———l——[4 3“=l[4 3
Zrel—=2 —1175l2 -1
ke 612—51+3=05I'§1W‘1?Wu6ﬂmé+%=ﬁ? (1 potnt)
(M-2.4, JU-Ag : 2021-22]
2
3
9
12
o s
12
®;
3

Explanation:

63. y=x3 _2x? + 3 THLIUTF (2, 3) [T 0 AiH© = F ga TS aTReg (1 point)
(FB?

IM-1.9, JU-Ag : 2021-22]
®y=4x-5
y=—4x-5
C y=4x+35

dy +x=14

Explanation:

SOIWhY] y=x-2x*+3 - g‘:z=3x2—4x

a7 (2,3) Regre wrr S = 3 x 22— 4 x 2= 4

94T (2,3) Rqre =pfteg A/, y =3 =m (x - 2)
=y-3=4(x-2) 2y-3=4x-8 =y=4x-5



64. y2 = 2(x+3) AAJL@A MAIVA ZART (SH0? (1 point)

[M-2.6, JU-Aq : 2021-22]

) (3,0)
(0, 3)
® (-3,0)
(0,-3)

Explanation:

r ] - il i —_—

65. 5x + 12y = 23 IJ3 5x + 12y + 29 = 0 (FYTRATHD NLTIO! HAG FO? (1 point)
[M-1.3, JU-Aq : 2021-22]
O 2
O3
@
&«

66. “Provisional” *TTHA AMTSIID *13] (FB? (1 point)
[JU-Ag : 2021-22]
L TR
® s
C fFqreTeT

Explanation:

‘S[@IWM" Provisional- ANE<; Provircial-&itaf*<; Assembly-
g |

67. "(RQATE" (HIN YATNF STNH? (1 pomnt)



[JU-Aq : 2021-22]

L IedE
) ST
® Sy
) fer

Explanation:

Eﬁ@mﬁ A GG ROIAE QIRNTET S ST 2 |

68. fRTHA (FABS STNILF *1FH TH? (1 point)
[JU-Aq : 2021-22]
O 3%
® 5

Explanation:
Wff% s SRS, T G

69. 'He is said to be very rich'- Change it into active voice. (1 point)

o -

[JU-Ag : 2021-22]

(_ He said he is very rich
" He said he is being very rich
@ People say he is very rich

() People say it he is very rich

70. Find the pair which has same relationship of Journal : Article. (I point)

[JU-Ag : 2021-22]

) Concert : Orchestra
() Magazine ;: Cover
@ Anthology : Poem
) Set :Scenery

Explanation:

SIGIWhYI'Anthology — FO] FALFe 61?] aFIfES Airticle o
93U Jounal (ofd T | qFIfeS STt facy aafe st am o3
I | AT AN Option C 9F Same Relationship 0 |




71. Choose the correct prepositional verb in the following sentence- (1 point)
Would you please _my article?
[JU-Ag : 2021-22]
" look up
) look on

® 100k over

) look into

Explanation:

— . - —— ——

E@ Look up- ‘IC@T (49 ¥41; Look on-¢7 W, Look over-
I9rF ¥41; Look into- ©9& 4T |

72. Yf@ SIETOEdId OGRS (&2 (1 point)
[JU-Ag : 2021-22]
® T 3
O A

Explanation:

[[@]wh}’\ﬁéiﬁﬁmﬁﬁv S &R WTUT I ST T |

3. (AT IO Emoji (FIN (TG WHTTT SAEIHNN T4 TH? (1 point)
[JU-Ag : 2021-22]
) BCD
_ EBCDIC
I ASCII
@ Unicode

Explanation:

|S[®)why| 2eftre AmifEefls $eAmTes wwr Ffe Ro eﬁ:ﬁ
T 04T SR T4 IR =N o Dopif T |

74. NI TG AT GI6T oG 92 (1 point)
[JU-Ag : 2021-22]
35 bps
@ 45 bps
200 bps



300 bps

Explanation:

IR TSI Tt 1S @6 45 — 300 bps
75. BT 8 GG L THLT AT GG o? (1 point)
[JU-Ag : 2021-22]
T
- T35 8 WTeE
® 5513 8 @GO

Explanation:

GEEFBR T GFeR FFo-Fet T7 el e 76 vy
SR AT AT | Adder @36 T 71 frcer &7 et w23 |

76. TRt g (Fie ATy 2oEe f[AENots AT Ol AeSalfire (1 point)
AT

[JU-Ag : 2021-22]
BN TR
) JIrS0RY
@ FHSTFHSTET JA T
O WWW

Explanation:

S[@WhY[t=is ®T (56 FeIF I IG 5T T (Ol 2 |
EDRE IS 37eT (ST |

7. A+ B+ C + B 49 A4S 9T ZCAI- (1 point)

[JU-Ag : 2021-22]

W A+B+C
) ABC

O AB+C
® B+AC

Explanation:



[SI®]wh|A+B+C+B=A+BC+B

=(A+B).(C+B)=AC+AB +BC +BB
=AC+AB+BC+B=AC+AB+B(A+1)=AC+B

78. TS folGs TR ﬁ'ﬁ*fﬂawﬁwm (TN HTML codecode fBF (1 point)
1934 (2?2

[JU-Ag : 2021-22]
) sre
) control
" video

® size

Explanation:

| S[@IWhY%"TI'Q?l‘TE <video width="320"height = "240"controls>

<source src="movie.mp4" type="video/mp4"> </video>

79. JICAMCNGH SN (FIN FICGT I FATS A2 (1 point)

[JU-Ag : 2021-22]

® ST identity [NeET Far0
TG af s SR
- (GAGE @ e

Explanation:

SBwh|ER TfF THesad aa2 w©w SemTer SR
qI3 J FI97 |

— A

Part A : Extra Syllabus

80. 2B SN T4 Algha 5 OIna QTS 3BT I 70N WS (1 point)
(FTFS?

[M-2.8, JU-Aq : 2021-22]
o

® 90°

) 135°

() 180°

Explanation:



SI@]why| s@wrs, R? = P? + Q* + 2PQCosa
= 2P? = P2 + 2P* + 2P* cos o G, P =Q
=>cosa=0 ..o=90° R? = 2P?




